
        j8f g+= )! sf ljljw of]hgf tyf ljlgof]lht ah]6 cf= j= @)&$/&% 
                                                                               

cGo of]hgf 

!= v nfOgsf] hut hª a'9fyf]sLsf] 3/ b]vL a}hgfy ufpFkflnsf j8f g= $ vfg]kfgL ;Dd 

hf]8\g] lkr af6f] ;Ddsf] cGbfhL !=% ls=ld= lkr ug]{    

@=kl/jt{g 6f]n hg 1fgHof]lt df=lj=b]lv pQ/ klZrd a}hgfk'/ hf]8g] af6f]df 9n lgsfz 

tyf :t/ pGglt,     

qm=;= of]hgfsf] gfd  ljlgof]lht ah]6 

1 s nfOgsf] k|x/L lj6b]vL klZrd ltns /fd g]kfnsf] 

3/ lg/sf] rf]s ;Dd / lqj]0fL rf]s b]vL bIfL0f 

d'l;sf]6]  nfOgsf] >L /fd h}}}zL sf] 3/ rf]s ;Dd 

cf]6fl;n ug]{ 

         3,000,000  
2 

s nfOgsf] lqj]0fL rf]s b]lv klZrd v nfOg hf]8\g] 

af6f]df sNe6 lgdf{0f             500,000  

3 l;4f{y 6f]n af6f] :t/ pGgtL             500,000  

4 j8f sfof{no ejg lgdf{0f             400,000  

5 zlStgu/ hfg] af6f] lgdf{0f              50,000  

6 k'ikfc~hnL jfnljsfz s]Gb|\ ejg lkmlgl;ª            150,000  

7 xf]d kfOk vl/b             200,000  

8 
hg1fgHof]tL df= lj= lj1fg k|of]uzfnf sf nfuL 

cfjZos ;fdu|L vl/b             250,000  

9 s[i0f df= lj= zf}rfno d{dt             250,000  

10 t/sf/L ;+sng s]Gb|\sf] ejg dd{t            150,000  

11 k|x/L la6 ejg dd{t             150,000  

12 v]ns'b d}bfg lgdf{0f / v]ns'b ;fdfu|L vl/b             250,000  

13 dd{t ;Def/ vr{              317,632  

  hDdf        6,167,632  


